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2-1-3.
2-1-2. 3
C )
1995,2000
[ 2-1-3-1.
i WXi( i(t), ai(t) ) + PPi( r(t), xi(t), kpi(t) ) - PGi( r(t), kgi(t) ) 5)
yi( xi(t), ai(t), kpi(t), kgi(t) ) 6)
yi it 1 ( )
Xi(t) it 1 X ( )
ai(t) it 65
kpi(t) it 1
kgi(t) it 1 ( )
r(t) t
2-1-3-2. 1995,2000 ]
In(yi(t)) = Z s [aji*In(xji)] + ad4*In(agi) + a5*In(pgi) +a6*In(igi)+ a0 + ui 7
a0 a5 pgi 1
X1 X3i 1 1 3 igi 1 5
agi 65 ui
47, 40
1 2 3
al a2 a3 a4 ab a6 a0 R"2
1995
-0.012 +0.233 +0.214 -0.241 +0.101 +0.006 +0.519 0.906
t (-0.810)x  (+9.702) (+3.837) (-3.315) (+2.280) (#0.102)x (+11.51)
2000
-0.010 +0.190 +0.250 -0.144 +0.127 -0.083 +0.411 0.908
t (-0.789)x  (+7.514) (+4.883) (-1.911) (+2.545) (-1.899) (+9.978)
) , X 95%
95% 99%

*5



2-1-4

15 22 15 65
1995 2000
1995,2000 2000
1
[ 2-1-4-1. 1
Ni = Ni(t-1) + NNi(t) + NSi(t) 8)
= Ni(t-1) + NNi( Ni(t-1), ai(t) ) + NSi( lit) )
= Ni( Ni(t-1), ai(t), li(t) ) 9)
Ni(t) it
N i(t) it ( )
NSi(t) it ()
li(t) it 1 X ( )
ai(t) it 65
[ 2-1-4-2. 1995,2000 ( ) ]
In(Ni()) = £ s [bji*In(ji)] + b4a*In(agi) + b5*In(Ni(t-1)) + b0 + ui 10)
b0 b4 Ni(t) t
1 3i 1 1 3 ui
agi 65 47, 40
1 2 3
1 2 3 4 b5 b0 R/2
1995
+0.002 +0.003 +0.002 -0.020 +0.997 +0.018 0.999
t (+1.344)x  (+1.242)x (+0214)x  (-5.351) (+998.1)  (+6.327)
2000
+0.001 +0.003 +0.016 -0.015 +0.999 +0.009 0.999
t (+1.190)x (+1.871) (+2.326)  (-5.476) (+1640)  (+4.904)
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/
( - )
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/
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[ 2-3-2-1. 1 1 1975-2000 ]
In(yi()) = Z =n [Aji(D)*IN(Xji(t))] + AO(t) + ui 11)
yi 1 ui
X1 X11i 1 X A0 All 47, 35
Al A2 A3 A4 A5 A6 A7 A8 A9 Al10 A1l A0  R™2
1975FY ------ |
' -0.04.+0.00 | +0.12 |+0.05 -0.00 +0.03 +0.03|+0.15 | -0.02 +0.09 +0.03 +0.89 .905
t 1 -2.031+0.34 | +4.73 |+0.99 -0.03 +0.66 +0.59/+3.03 | -0.66 +1.07 +0.46 +20.0
1980FY !
1 -0.04,+0.01 | +0.13 |+0.07 -0.03 +004 +0.01|+0.17 | -001 +0.10 +0.01 +1.19 910
t 1 -2111+059 | +5.74 |+1.46 -135 +088 +012+3.14 | -017 +1.14 +010 +27.0
1985FY | 5
| -0.05:+0.00 | +0.15 |+0.14 -001 +0.02 -0.03/+0.19 | +0.01 +0.12 -0.02 +1.23 .929
t | =299 +0.36 | +1.11|+295 -044 +042 -060+3.25 | +0.31 +151 -041 +28.4
1990FY | |
' ~0.03:-0.02 | +0.13 |[+0.18 -0.01 +0.03 +0.02|+0.13 | +0.05 +0.01 -0.01 +1.25 .928
t I —1.805—1.84 +5.34 (+2.34 -052 +0.68 +055+192 | +1.10 +0.10 -013 +25.7
1995FY ~T77C
-001 +0.02|+0.12 |+0.05 -001 -0.02 +0.01/+0.27 | +0.07 +0.07 -0.05 +1.33 .903
t -0.30 +1.24 | +4.88 |+1.08 -042 -045 +0.20,+4.03 | +1.28 +0.76 -0.72 +27.2
2000FY
-001 -002|+0.13 |+007 -001 -0.00 +0.02/+0.21 | +0.04 +0.13 -0.03 +1.29 .867
t -0.31 -1.25|+4.69 |+1.23 -027 -005 +029 +2.89 | +0.80 +1.24 -0.36 +24.4
[ 2-3-2-2. 1 1 1975-2000 ]
In( vyi()) = Z = [aji(t)*In( xji(t))] + a0(t) + ui 12)
yi 1 5 ui
X1 X11i 1 X 5 a0 all 47, 35
al a2 a3 a4 a5 ab a’ a8 a9 al0 all a0 Rn"2
75-80
+0.03 -0.03 [+0.08 |+0.02 -0.02 +0.01 +0.12 -008 -0.02| +0.22|-0.03 +0.06 .503
t +0.81 -1.87 |+3.05 |+0.64 -097 +017 +1.78 -1.07 -041|+259|-041 +13.4
80-85
-0.14 -0.03 {+0.13 [+0.07 +0.04 +0.14 +0.09 +0.06 +0.13 | +0.05|+0.16 +0.01 .812
t -3.37 -2.14 |+4.64 |+2.19 +2.01 +3.02 +1.90 +1.22 +2.99 | +048|+1.92 +1.77
85-90
-0.02 +0.02 |+0.27 |+0.08 -0.02 -0.01 +0.00 +0.10 -002| +0.17|+0.00 +0.02 .401
t -027 +0.94 |+43.12 |+1.45 -042 -013 +0.05 +1.28 -033| +1.46|+0.04 +1.67
90-95
+0.00 +0.00 |+0.16 [+0.08 +0.01 +0.12 +0.07 +0.10 -0.02| +0.18|+0.03 -0.00 .633
t +0.07 +0.06 |+2.96 4+2.42 +044 +2.06 +2.05 +1.656 -025| +1.28|+0.33 -018
95-00
+0.10 +0.01 |+0.18 |+0.04 +0.01 +0.04 +0.02 +0.06 -0.02 | +0.34|+0.10 -0.01 531
t +1.62 +0.58 | +3.17 |+0.96 +026 +0.64 +0.38 +0.80 -033|+198|+0.79 -1.18
75-00
+0.06 -001 |+0.14 |-008 +0.02 +0.07 +0.08 +0.05 +0.01 | +0.19|+0.06 +0.02 .653
t +1.74 -044 |+3.31|-1.99 +1.20 +1.45 +1.87 +1.79 +025| +2.21|+1.40 +8.06
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[ 2-3-3-1. 1 1975-2000 ]
IN(Ni()) = Z = [Bji(t)*In(lji(t))] + BO(t) + ui 13)
Ni ui
11 111i 1 X BO B11 47, 35
Bl B2 B3 B4 B5 B6 B7 B8 B9 Bl10 Bll B0 R72
1975FY :‘""'. :‘““‘:
:—0.715—0.00 -0.04:-0.68 ! -006 -048 +0.05 -003 +021 -022 -030 +0.21 853
t :-5.77 :—0.0] -021'-163 ' -038 -066 +0.13 -017 +0.60 -024 -067 +0.70
1980FY . : | |
1 =0.70:+0.00 -012:-1.24 | +0.07 +044 -001 -0.05 -0.07 +015 +0.02 +1.99 .849
t 1 -4.60:+0.86 —0,685-2.71 V +0.31 +0.50 -0.03 -024 -018 +017 +0.05 +6.46
1985FY | : | |
1 =0.71:-000 -012,-129 | -013 +0.34 -011 -0.09 +0.25 +042 -022 +0.39 874
t V=477 1-062 -063,-297 | -0.79 +0.39 -0.33 -049 +0.63 +0.52 -045 +1.38
1990FY E ! |
'-042'-000 -0.22\-115 -012 +1.06 +049 +0.13 -002 -0.11 -0.67 +3.08 .859
t '1-246'-1.38 -094,-218 | -0.73 +1.08 +1.04 +0.75 -0.05 -0.12 -1.33 +10.1
1995FY 5 ' 5 i
:—0.55 1-0.00 -0.22:-0.98: -0.39 +1.24 +043 +013 -018 -052 -046 +1.06 .878
t :-4.17 5—1.69 -0.891-1.59 ! -2.05 +1.42 +0.95 +0.68 -043 -061 -1.05 +3.71
2000FY . : | |
1 -0421-000 -026:-151 | -010 +0.81 +0.74 +018 -024 +0.14 -0.78 +2.10 .849
t 1 -2581-0.79 -1.02:-2.64 | -0.53 +0.89 +1.65 +0.70 -0.63 +013 -1.65 +6.51
[ 2-3-3-2 1975-2000 ]
In( Ni()) = Z a0 [bji(t)*In( Li(t))] + bO(t) + ui 14)
Ni 5 ui
11i [11i 5 b0 b1l 47, 35
bl b2 b3 b4 b5 b6 b7 b8 b9 bl0 bill b0 R"2
75-80
-0.30 +0.05 +025 +0.15| +0.03 | +047|+235 -216 |+0.61 ||+1.01 |+0.06 -0.02 .752
t =292 +1.49 +1.53 +0.89| +0.91 | +1.54|+1.62 -1.49 |+4.34 ||+4.18 |+0.50 -1.75
80-85
+0.17 -0.00 +0.33|+0.36 | -0.01 | +0.37|-1.42 +1.68 |+0.32 ||+0.50 |+0.19 +0.01 .785
t +1.70 -0.04 +259|+2.86| -026 | +1.67|-1.23 +1.50 |+2.66 ||+2.60 [+1.86 +083
85-90
+0.11 +0.03 +0.34|+0.40 | +0.04 | +1.23|+0.16 -0.03 | +0.07 || +0.79 |-0.04 -0.04 .810
t +1.03 +1.29 +2.06|+3.02 | +1.10 | +4.00|+0.10 -0.02 | +0.61 ||+3.39 |-049 -3.03
90-95
+0.42 +0.04 +0.63| +0.18| +0.08 | +0.87 |+0.45 -0.27 | +0.24 ||+0.63 |-0.14 +0.01 593
t +4,03 +1.07 +3.39| +0.89| +2.05 | +2.64|+0.30 -0.18 |+1.73 ||+2.38 |-1.36 +0.64
95-00
-0.01 -0.00 +051|+0.17| +0.02 | +0.13|+0.01 +0.01 |+0.34 ||+0.70 |+0.11 -0.00 .759
t -010 -0.00 +3.37|+1.70| +0.74 | +1.05|+0.06 +0.35 | +8.89 ||+4.25 |+1.58 -0.28
75-00
-0.03 +0.00 +0.04)+0.09 | +0.02 | +0.25|-0.01 +0.03 |+0.05 ||+0.29 |+0.01 -0.01 .935
t -095 +0.32 +1.15/+1.76| +1.42 |+4.14|-026 +1.10 |+1.75 ||+4.16 |+0.26 -6.43
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2-3-4.
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2-2.
3 2
G )
5
2-2.
1980 5
1980-1990
5 1975, 1990 2000
( )
2-2.
( )
2-3-4-1. -6. 1975,80,85,90,95,2000
2-3-4-7. 14. (
)
2-3-4-1 5 1 1975-2000 ]
In( xi()) = cLi(t)*In(Ni(t-5))+ cO(t) + ui 15)
Xxi(t) 1 5 ui
Ni -5 5 c0 «c1, 47, 45
1975-1980 1980-1985 1985-1990 1990-1995 1995-2000 1975-2000
cl t cl ¢t cl t cl t cl ¢t cl t
]
+0.03 (+1.31) +0.01 (+0.52) -0.03 (-1.34) -0.05 (-4.19) -0.04 (-2.48) -008 (-1.43)
-0.06 (-1.94) -002 (-0.57) -0.08 (-3.67) -0.09 (-5.50) -0.07 (-4.46) -0.31 (-6.20)
]
-0.01 (-1.41) +0.03 (+3.73) +0.05 (+3.17) -0.01 (-090) -0.00 (-021) +0.05 (+1.36)
-0.03 (-2.07) +0.02 (+1.20) +0.05 (+2.06) -002 (-1.33) +0.02 (+1.28) +0.04 (+0.86)
-0.04 (-257) +002 (+1.34) +0.07 (+2.92) -0.01 (-048) -0.04 (-3.01) +0.00 (+0.06)
+0.00 (+0.82) +0.02 (+3.20) +0.01 (+0.73) -0.01 (-1.33) -0.01 (-1.83) +0.02 (+1.07)
]
-0.02 (-1.47) +0.02 (+1.80) -000 (-0.14) -0.05 (-3.68) +0.00 (+0.19) -0.05 (-1.58)



2-3-5.

1975-2000 5
1975-1990
1990
1990
( - )
() () (1990 )
/ .
( - )
()
/ ¢ )
( )
2-3-5-1. 6. 1 1 1975,80,85,90,95,2000
2-3-5-7. 8.
2-3-3-7 ( )
[ 2-3-5-2. 1 1975-2000 ]
In( yi()) = Z = [cji(t)*In( XLi(t))] + cO(t) + ui 17)
yi 1 5 ui
XL1i  XL1Z1i X 5 c0 cl1 47, 35
cl c2 c3 c4 c5 cb6 c7 c8 c9 cl10 cll c0 RAM2
75-80
+0.05 +0.00 | +0.07 |-0.03 -0.02 +0.02 +0.03 -0.02 +0.03 +0.13 +0.03 +0.07 .480
t +1.70 +0.13 | +2.49|-083 -1.53 +0.37 +0.65 -046 +0.88 +2.31 +0.96 +14.6
80-85
-002 -000| +0.13(+0.10 +0.03 +0.11 +0.16 -001 +0.10 -0.22 +0.08 +0.03 577
t -040 -1.011+43.38[|+1.86 +1.94 +2.18 +2.41 +0.22 +1.75 -2.69 +1.59 +4.26
85-90
+0.07 +0.00 | +0.27 |[+0.05 -0.04 -004 +0.03 +0.03 -005 +0.16 -0.13 +0.04 551
t +1.43 +2.08 | +3.41|(+092 -195 -059 +0.60 +0.56 -1.31 +1.78 -242 +511
90-95
+0.05 -0.00 |1 +0.13 [+0.09 +0.01 +0.12 +0.03 +0.06 +0.05 +0.06 -0.00 +0.01 564
t +1.01 -046 | +2.59 [+2.60 +0.88 +2.07 +0.99 +1.04 +1.01 +0.53 -0.03 +1.09
95-00
+0.05 -0.00 | +0.27 |+0.06 -0.04 +0.03 +0.04 +0.01 +0.07 +013 +0.10 -0.01 536
t +1.34 -0.60 | +4.46 |+1.45 -265 +050 +1.11 +049 +2.04 +1.37 +2.16 -1.02
75-00
+0.06 -0.00|+0.14|-0.06 +002 +007 +0.08 +0.05 +001 +0.19 +0.06 +0.02 .653
t +1.74 -044 | +3.31|-199 +1.20 +1.45 +1.87 +1.79 +025 +2.21 +1.40 +8.06
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[ 2-3-3-8. (1975=100)
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p5000
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[ 2-3-6-1.
In(
I i(t); 1
Xi(t) ; 1
1975-1980
di t

X

IXi( ) = dii(t)*In(_ xi(t))

5

1980-1985
di t

+ do(t) + ui

ui
do,d1l ;

1985-1990
dl t

1975-2000

1990-1995
di t

15 ]
18)
47, 45
1995-2000
di t

2-4.

]

+0.469 (+3.074)
-0.001 (-0.000)
+0.087 (+1.149)

]

+0.026 (+0.277)
+0.174 (+0.794)
-0.020 (-0.103)
+0.145 (+0.960)

]

-0.047 (-0.178)
+0.198 (+1.846)
+0.327 (+0.969)

+0.095 (+1.059)

+0.016 (+0.103)
+18.79 (+1.073)
+0.140 (+1.702)

-0.045 (-0.489)
+0.415 (+2.483)
+0.192 (+0.975)
+0.246 (+1.074)

+0.260 (+0.938)
+0.031 (+0.212)
-0.095 (-0.292)

+0.307 (+3.200)

-0.013 (-0.110)
0430 (-0.043)
+0.279 (+3.052)

~0.196 (+0.842)
-0.009 (-0.095)
~0.040 (-0.305)
+0.009 (+0.111)

-0.004 (-0.089)
-0102 (-1.191)
+0.114 (+0.793)

+0.164 (+2.425)

2-4-1.

2-2.

2-3.
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+0.402 (+2.393)
-27.94 (-1.141)
+0.088 (+1.000)

-0.359 (-1.145)
-0.077 (-0.759)
+0.210 (+1.269)
+0.176 (+0.928)

+0.017 (+0.258)
+0.227 (+1.405)
-0.304 (-0.872)

+0.153 (+3.011)

+0.329 (+1.556)
+51.54 (+2.138)
+0.263 (+3.559)

-0.498 (-1.049)
~0.092 (+0.619)
+0.778 (+1.854)
-0.149 (-0.650)

+0.020 (+0.206)
+1.098 (3.383)
+0.060 (+0.166)

+0.272 (+3.338)



2-4-2.
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2-4-3.

*8
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2-4-1-3.

[ 2-4-3-1.
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3-1.

3-1-1.
2-1. 2-6.
1-4-2.
2 8
a) -
b) -
c) -
d) -
( )
3-1-1-1. 1 8 1975-2000
3-1-1-2. 1 @8 1975-2000 )
3-1-2. -
2-1-2, 2-1-3.
4 8 1975-2000 1
1975-2000 1
8
( )
3-1-2-1. 1 1975-2000
3-1-3. 8
1975 100
2
a) 1975-1990 (++)
b) 1990-2000 (+)
1975
4
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2-3-2.,2-3-5.

1975



3-1-3-1. (8 1975=100)
[ 3-1-2-1. 1 1975-2000 1
[ 3-1-3-1 (8 1975=100)]
1 = 1975=100
pa. 600
1.10
o ) ——
v A .
* 500 B
A
Y%
400
300
1.00 S
3
0.98 L2 < o 200
°
0.96
1032 1034 1036 1038 104 1042 1044 1046 1048 ¢
1 2000/1975 pa. 1975 1980 1990 1995 2000
3-2.
3-2-1. -
2-1-4, 2-3-3.
4 8 1975-2000
1975-2000
8
( )
3-2-1-1 - 1975-2000
3-2-2. 8
1975 100
+
1995
a) 1975-2000 (++)
b) 1995 (+/-)
5 75-80
90-95 95-00 80
-85 85-90
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or )

2
8
( )
( )
3-2-2-1 + (8 1975=100)
3-2-2-2. + (8 )
3-2-2-3 (8 1975=100)
[ 3-2-1-1. - 1975-2000 ]
[ 3-2-2-1. + (8 1975=100)]
= 1975100 +
pa. 240
1.06
i - o- i)
M A A 20 - -e
A A i
200
v —A—
180
160
140
Y o 120
0.96 O
0.995 1.000 1.005 1.010 1.015 1.020f | 100
2000/1975 p.a 1975 1980 1985 1990 1995 2000
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3-3.

3-3-1.
1-4-2.

3-3-2. 4
3-3-1.

4
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4-1.

4-1-1.
- 1 ( )
( )
(1-3-1,1-3-2.1-3-3. )
- 1975-2000
4
(1-4-2. )
4-1-2. - -
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(2-1-2.2-1-3. )
- 1975-2000
1
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- (
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- 1975-2000
1
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- (
) (
) (
3
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1 5
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- 1975-2000
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4-1-5.

4-1-6.

(2-2-3.2-3-4. )

(2-2-3.2-3-4. )

(2-3-6. )

(2-4-1. )

@-4-2. )

(3-3-1. )
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4-2.

4-2-1.

2-4.

4-2-2.

25

1990

47

(1975=100)

(1975=100)
(1975=100)

- 32 -
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[ 4-2-2-1. ]

4-2-3.
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1-2-1-1.

(1975-2000)
0000000
H 2000 R2 =097 =47
@ 195 y = 4.32e+005 + 2.93x
y=2000FY, x=1975FY
50000000 A 1990 0
V 1985
< 1980
boooocoo || &X-1975
v
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1.035
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1-2-1-3. 1975 100

1975=100

(1975= 100)
450
A A
400 ——
A A
350 = .
—V— O
300 %= /'—:
—0— S
o5 - _ %ﬁ—’\'_
Bl o /v/‘*

- A

150

100
50
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1
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>0 R2 =0.708 47

u =0. =
450 ® igg y=048 + 2.31x

A 1000 y=2000FY, x=1975FY W
400 | |V 1985

< 1980
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v
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250 o
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150 X
& xK
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0.50
05 08 1.0 13 15 18
1 (‘79
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1-3-2-2.

1.050

1.045

1.040

1.035

1.030

2000/1975 pa

(‘75-'00)

1-3-2-3.

1975

100

1975=100

(1975= 100)

350

300

250

200

——
A
e
L
Le—
g

150

100

/|

50

1975

1980

1985 1990 1995 2000

- 37 -




1-3-3-1.
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1-3-3-3. 1975 100

150
- A
A
140 e A
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130
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110
A
100 2 x
90
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1-4-1-1. 1 (1975 ) 1975-2000
1 (‘75)- (‘75-'00)
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1.07
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DH’ o =)
oo o
1.04 X 2
: X x
) YOl
1.03
1.02
101 > % 2 .
® ”
1.00 L4 2.
0.99
06 0.8 1.0 1.2 1.4 16 1.8
1 (1975)
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1-4-1-2. 1

(2000 ) 1975-2000

1

(‘00)- (‘75-'00)

200071975 pa
1.07

1.06

1.05

1.04

1.03

1.02

101

1.00

0.99

15

3.0
1 (2000)

35

1-4-2-1. 1

1975-2000

- (‘75-'00)

1.015

(2000/1975 pa)

1.010

1.005

1.000

0.995

1.030

1.035 1.040 1.045
1 (200071975 pa)

1.050
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2-1-3-2. 1995,2000 ]
In(yi(t)) = Z = [@ji*In(xji)] + ad4*In(agi) + a5*In(pgi) +a6*In(igi)+ a0 + ui 7)
a0 a5 pgi 1
X1 X3i 1 1 3 igi 1 5
agi 65 ui
47, 40
1 2 3
al a2 a3 a4 ab a6 a0 R"2
1995
-0012 +0.233 +0.214 -0.241 +0.101 +0.006 +0.519 0.906
t (-0.810)x  (+9.702) (+3.837) (-3.315) (+2.280) (*0.102)x (+11.51)
2000
-0.010 +0.190 +0.250 -0.144 +0.127 -0.083 +0.411 0.908
t (-0.789)x  (+7.514) (+4.883) (-1.911) (+2.545) (-1.899) (+9.978)
) , X 95%
95% 99%
[ 2-1-4-2. 1995,2000 ( ) ]
In(Ni( )) = X s [bji*In(ji)] + bd*In(agi) + b5*In(Ni(t-1)) + b0 + ui 10)
b0 b4 Ni(t) t
1 3i 1 1 3 ui
agi 65 47, 40
1 2 3
1 2 3 4 b5 b0 R"2
1995
+0.002 +0.003 +0.002 -0.020 +0.997 +0.018 0.999
t (+1.344)x (+1.242)x (+0214)x (-5.351) (+998.1) (+6.327)
2000
+0.001 +0.003 +0.016 -0.015 +0.999 +0.009 0.999
t (+1.190)x (+1.871) (+2.326) (-5.476) (+1640) (+4.904)
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2-3-2-1. 6. 1 1 1975,80,85,90,95,2000
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1 1
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[ 2-3-2-1. 1 1 1975-2000 ]
In(yi()) = Z =n [Aji(D)*IN(Xji(t))] + AO(t) + ui 11)
yi 1 ui
X1 X11i 1 X A0 All 47, 35
Al A2 A3 A4 A5 A6 A7 A8 A9 Al0 A1l A0 R™2
1975FY ------ :
' -0.04,+0.00 | +0.12 |+0.05 -0.00 +0.03 +0.03|+0.15 | -0.02 +0.09 +0.03 +0.89 .905
t ' -2.03.+0.34 | +4.73 |+0.99 -0.03 +0.66 +0.59/+3.03 | -0.66 +1.07 +0.46 +20.0
1980FY !
1 -0.04,+0.01 | +0.13 |+0.07 -0.03 +0.04 +0.01|+0.17 | -001 +010 +0.01 +1.19 910
t 1 -2111+059 | +5.74 |+1.46 -135 +088 +012+3.14 | -017 +1.14 +010 +270
1985FY |
| -0.05'+0.00 | +0.15 (+0.14 -001 +0.02 -0.03/+0.19 | +0.01 +012 -0.02 +1.23 929
t E -259'+0.36 | +71.11 |+295 -044 +042 -0.60+43.25 | +0.31 +1.51 -041 +28.4
1990FY | |
' -0.03:-0.02 | +0.13 [+0.18 -0.01 +0.03 +0.02|+0.13 | +0.05 +0.01 -0.01 +1.25 .928
t : —1.805—1.84 +5.34 (+2.34 -052 +0.68 +055+192 | +1.10 +0.10 -013 +25.7
1995FY ~ 7T
-0.01 +0.02 | +0.12 |+0.05 -0.01 -0.02 +0.01/+0.27 | +0.07 +0.07 -0.05 +1.33 .903
t -0.30 +1.24 | +4.88 |+1.08 -042 -045 +0.20,+4.03 | +1.28 +0.76 -0.72 +27.2
2000FY
-0.01 -002|+0.13|+0.07 -001 -0.00 +0.02/+0.21 | +0.04 +0.13 -0.03 +1.29 .867
t -031 -1.25|+4.69 |+1.23 -027 -0.05 +0.29 +2.89 | +0.80 +1.24 -0.36 +24.4
[ 2-3-2-2. 1 1 1975-2000 ]
In( vyi()) = Z = [aji(t)*In( xji(t))] + a0(t) + ui 12)
yi 1 5 ui
X1 X11i 1 X 5 a0 all 47, 35
al a2 a3 a4 a5 ab a’ a8 a9 al0 all a0 Rn"2
75-80
+0.03 -0.03 [+0.08 |+0.02 -0.02 +0.01 +0.12 -008 -0.02| +0.22|-0.03 +0.06 .503
t +0.81 -1.87 |+3.05 |+0.64 -097 +017 +1.78 -1.07 -041|+259|-041 +13.4
80-85
-0.14 -0.03 | +0.13 [+0.07 +0.04 +0.14 +0.09 +0.06 +0.13 | +0.05|+0.16 +0.01 .812
t -3.37 -2.14 |+4.64 [+2.19 +2.01 +3.02 +1.90 +1.22 4299 | +048(+1.92 +1.77
85-90
-0.02 +0.02 |+0.27 |+0.08 -0.02 -0.01 +0.00 +0.10 -002| +0.17|+0.00 +0.02 .401
t -027 +0.94 |+3.12 |+1.45 -042 -013 +0.05 +1.28 -033| +1.46|+0.04 +1.67
90-95
+0.00 +0.00 |+0.16 |+0.08 +0.01 +0.12 +0.07 +0.10 -002| +0.18|+0.03 -0.00 .633
t +0.07 +0.06 |+2.96 4+2.42 +0.44 +2.06 +2.05 +1.65 -025| +1.28|+0.33 -018
95-00
+0.10 +0.01 |+0.18 |+0.04 +001 +0.04 +0.02 +0.06 -0.02| +0.34|+0.10 -0.01 531
t +1.62 +0.58 |+3.17 |+0.96 +0.26 +0.64 +0.38 +0.80 -033|+198|+0.79 -118
75-00
+0.06 -001 |+0.14 |-0.08 +0.02 +0.07 +0.08 +0.05 +0.01| +0.19|+0.06 +0.02 .653
t +1.74 -044 |+3.31|-1.99 +1.20 +1.45 +1.87 +1.79 +025| +2.21|+1.40 +8.06
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2-3-3-1. 6. 1
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[ 2-3-3-1. 1 1975-2000 ]
IN(Ni()) = Z = [Bji(t)*In(lji(t))] + BO(t) + ui 13)
Ni ui
11 111i 1 X BO B11 47, 35
Bl B2 B3 B4 B5 B6 B7 B8 B9 Bl10 Bll B0 R72
1975FY :‘""'. :‘““‘:
:—0.715—0.00 -0.04:-0.68 ! -006 -048 +0.05 -003 +021 -022 -030 +0.21 853
t :-5.77 :—0.0] -021'-163 ' -038 -066 +0.13 -017 +0.60 -024 -067 +0.70
1980FY . : | |
1 =0.70:+0.00 -012:-1.24 | +0.07 +044 -001 -0.05 -0.07 +015 +0.02 +1.99 .849
t 1 -4.60:+0.86 —0,685-2.71 V +0.31 +0.50 -0.03 -024 -018 +017 +0.05 +6.46
1985FY | : | |
1 =0.71:-000 -012,-129 | -013 +0.34 -011 -0.09 +0.25 +042 -022 +0.39 874
t V=477 1-062 -063,-297 | -0.79 +0.39 -0.33 -049 +0.63 +0.52 -045 +1.38
1990FY E ! |
'-042'-000 -0.22\-115 -012 +1.06 +049 +0.13 -002 -0.11 -0.67 +3.08 .859
t '1-246'-1.38 -094,-218 | -0.73 +1.08 +1.04 +0.75 -0.05 -0.12 -1.33 +10.1
1995FY 5 ' 5 i
:—0.55 1-0.00 -0.22:-0.98: -0.39 +1.24 +043 +013 -018 -052 -046 +1.06 .878
t :-4.17 5—1.69 -0.891-1.59 ! -2.05 +1.42 +0.95 +0.68 -043 -061 -1.05 +3.71
2000FY . : | |
1 -0421-000 -026:-151 | -010 +0.81 +0.74 +018 -024 +0.14 -0.78 +2.10 .849
t 1 -2581-0.79 -1.02:-2.64 | -0.53 +0.89 +1.65 +0.70 -0.63 +013 -1.65 +6.51
[ 2-3-3-2 1975-2000 ]
In( Ni()) = Z a0 [bji(t)*In( Li(t))] + bO(t) + ui 14)
Ni 5 ui
11i [11i 5 b0 b1l 47, 35
bl b2 b3 b4 b5 b6 b7 b8 b9 bl0 bill b0 R"2
75-80
-0.30 +0.05 +025 +0.15| +0.03 | +047|+235 -216 |+0.61 ||+1.01 |+0.06 -0.02 .752
t =292 +1.49 +1.53 +0.89| +0.91 | +1.54|+1.62 -1.49 |+4.34 ||+4.18 |+0.50 -1.75
80-85
+0.17 -0.00 +0.33|+0.36 | -0.01 | +0.37|-1.42 +1.68 |+0.32 ||+0.50 |+0.19 +0.01 .785
t +1.70 -0.04 +259|+2.86| -026 | +1.67|-1.23 +1.50 |+2.66 ||+2.60 [+1.86 +083
85-90
+0.11 +0.03 +0.34|+0.40 | +0.04 | +1.23|+0.16 -0.03 | +0.07 || +0.79 |-0.04 -0.04 .810
t +1.03 +1.29 +2.06|+3.02 | +1.10 | +4.00|+0.10 -0.02 | +0.61 ||+3.39 |-049 -3.03
90-95
+0.42 +0.04 +0.63| +0.18| +0.08 | +0.87 |+0.45 -0.27 | +0.24 ||+0.63 |-0.14 +0.01 593
t +4,03 +1.07 +3.39| +0.89| +2.05 | +2.64|+0.30 -0.18 |+1.73 ||+2.38 |-1.36 +0.64
95-00
-0.01 -0.00 +051|+0.17| +0.02 | +0.13|+0.01 +0.01 |+0.34 ||+0.70 |+0.11 -0.00 .759
t -010 -0.00 +3.37|+1.70| +0.74 | +1.05|+0.06 +0.35 | +8.89 ||+4.25 |+1.58 -0.28
75-00
-0.03 +0.00 +0.04)+0.09 | +0.02 | +0.25|-0.01 +0.03 |+0.05 ||+0.29 |+0.01 -0.01 .935
t -095 +0.32 +1.15/+1.76| +1.42 |+4.14|-026 +1.10 |+1.75 ||+4.16 |+0.26 -6.43
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2-3-4-1. 5 1 1975-2000 ]
In( xi()) = clif)*In(Ni(t-5))+ cO(t) + ui 15)
Xxi(t) 1 5 ui
Ni -5 5 c0 cl; 45
1975-1980 1980-1985 1985-1990 1990-1995 1995-2000 1975-2000
cl t cl t cl t cl t cl t cl t
]
+0.03 (+1.31) +0.01 (+0.52) -0.03 (-1.34) -0.05 (-4.19) -0.04 (-2.48) -0.08 (-1.43)
+0.01 (+0.21) -0.05 (-3.00) -0.04 (-1.59) +0.01 (+0.43) +0.00 (+0.12) -0.08 (-1.45)
+0.13 (+2.03) -0.10 (-1.92) -0.02 (-0.25) -0.09 (-2.07) -002 (-0.53) -011 (-0.99)
-0.06 (-1.94) -002 (-057) -0.08 (-3.67) -0.09 (-550) -0.07 (-4.46) -0.31 (-6.20)
]
-0.01 (-141) +0.03 (+3.73) +0.05 (+3.17) -001 (-090 -0.00 (-0.21) +0.05 (+1.36)
-0.03 (-2.07) +0.02 (+1.20) +0.05 (+2.06) -002 (-1.33) +0.02 (+1.28) +0.04 (+0.86)
-0.04 (-2.86) +002 (+1.48) +0.02 (+0.53) -0.02 (-0.93) -0.03 (-1.75) -0.05 (-1.50)
-0.04 (-257) +002 (+1.34) +0.07 (+2.92) -0.01 (-048) -0.04 (-3.01) +0.00 (+0.06)
+0.00 (+0.82) +0.02 (+3.20) +0.01 (+0.73) -0.01 (-1.33) -0.01 (-1.83) +0.02 (+1.07)
]
-0.02 (-147) +0.02 (+1.80) -000 (-0.14) -0.05 (-3.68) +0.00 (+0.19) -0.05 (-1.58)
-0.06 (-1.54) -002 (-0.62) +0.04 (+0.89) -0.03 (-0.94) -0.05 (-2.92) -0.12 (-1.70)
-0.02 (-0.70) -0.00 (-0.01) -0.07 (-2.46) -0.05 (-3.95) +0.03 (+2.66) -0.11 (-2.59)
+0.00 (+0.38) +0.01 (+1.09) -0.05 (-2.19) -001 (-0.57) -0.01 (-1.71) -0.05 (-1.74)
-0.05 (-1.94) +003 (+1.57) +0.02 (+0.64) -0.11 (-3.48) -0.01 (-043) -0.10 (-2.22)
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[ 2-3-5-1. 1 1975-2000 ]
In(yi()) = Z = [Cli(D)*IN(XLji(t))] + CO(t) + ui 16)
yi 1 ui
XL1i XL11i 1 X CoO Cl11 47, 35
Cl C2 C3 C4 C5 Cé6 Cc7 C8 (C9 Cl10 Cl1 co  Rn2
1975FY
+0.10 +0.01| +0.19]|+0.08 -0.00| +0.20|+0.06 -0.08 -0.02 +0.07 -0.05 -3.38 .751
t +1.61 +1.61| +2.76|+1.12 -001| +2.16|+0.94 -2.44 -066 +0.44 -0.59 -46.5
1980FY
+0.10 +0.01| +0.13|+0.07 +0.03| +0.26|+0.07 -0.11 -0.01 -012 -0.05 -1.72 .707
t +0.10 +1.02| +1.99|+0.67 +0.89| +3.16|+1.14 -2.24 -008 -0.68 -046 -21.7
1985FY
+0.03 -0.00| +0.20| +0.04 +0.03| +0.17|+0.06 -0.10 +0.04 -0.09 +0.00 -2.38 .676
t +0.31 -0.18| +2.70| +0.31 +0.69| +1.61|+0.78 -2.12 +0.53 -050 +0.04 -25.7
1990FY
-0.14 -0.00| +0.16|+0.55 |-0.00| +0.27|-0.14 -003 +011 -015 +0.05 -4.73 814
t =211 -056| +2.37|+5.96 |-001| +4.04|-2.31 -091 +1.15 -099 +047 -60.2
1995FY
-0.22 +0.00| +0.21|+0.36 |+0.01| +0.15|-011 -003 -013 +0.08 -0.03 -152 .636
t -2.67 +0.31] +2.92|+3.53 |+021| +161|-1.10 -0.74 -1.14 +040 -0.27 -16.0
2000FY
-0.06 -0.01| +0.22|+0.28 | +0.02| +0.16|+0.04 -0.01 -0.23 -005 -0.02 -2.09 .679
t -093 -1.05| +3.00|+2.73 | +0.56| +1.77|+046 -021 =263 -026 -022 -25.4
[ 2-3-5-2. 1 1975-2000 ]
In( yi()) = Z = [cji(t)*In( XLi(t))] + cO(t) + ui 17)
yi 1 5 ui
XL1i  XL1Z1i X 5 c0 cl1 47, 35
cl c2 c3 c4 c5 cb6 c7 c8 c9 cl10 cll c0 RAM2
75-80
+0.05 +0.00 | +0.07 |-0.03 -0.02 +0.02 +0.03 -0.02 +0.03 +0.13 +0.03 +0.07 .480
t +1.70 +0.13 | +2.49|-083 -1.53 +0.37 +0.65 -046 +0.88 +2.31 +0.96 +14.6
80-85
-002 -000| +0.13(+0.10 +0.03 +0.11 +0.16 -001 +0.10 -0.22 +0.08 +0.03 577
t -040 -1.011+43.38[|+1.86 +1.94 +2.18 +2.41 +0.22 +1.75 -2.69 +1.59 +4.26
85-90
+0.07 +0.00 | +0.27 |[+0.05 -0.04 -004 +0.03 +0.03 -005 +0.16 -0.13 +0.04 551
t +1.43 +2.08 | +3.41|(+092 -195 -059 +0.60 +0.56 -1.31 +1.78 -242 +511
90-95
+0.05 -0.00 |1 +0.13 [+0.09 +0.01 +0.12 +0.03 +0.06 +0.05 +0.06 -0.00 +0.01 564
t +1.01 -046 | +2.59 [+2.60 +0.88 +2.07 +0.99 +1.04 +1.01 +0.53 -0.03 +1.09
95-00
+0.05 -0.00 | +0.27 |+0.06 -0.04 +0.03 +0.04 +0.01 +0.07 +013 +0.10 -0.01 536
t +1.34 -0.60 | +4.46 |+1.45 -265 +050 +1.11 +049 +2.04 +1.37 +2.16 -1.02
75-00
+0.06 -0.00|+0.14|-0.06 +002 +007 +0.08 +0.05 +001 +0.19 +0.06 +0.02 .653
t +1.74 -044 | +3.31|-199 +1.20 +1.45 +1.87 +1.79 +025 +2.21 +1.40 +8.06
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[ 2-3-6-1.

L i(t);
xi(t)

In(

1
1

1975-1980
dl t

X 5

1980-1985
di t

IXi()) = dlif)*In(_ xi(t) + dO(t) + ui

ui ;
dod1 ;

1985-1990
dl t

1975-2000

1990-1995
dl t

15 ]
18)
47, 45
1995-2000
dl t

—

[ |

[ |

]

+0.469 (+3.074)
-0.001 (-0.000)
+0.087 (+1.149)

]

+0.026 (+0.277)
+0.174 (+0.794)
-0.020 (-0.103)
+0.145 (+0.960)

]

-0.047 (-0178)
+0.198 (+1.846)
+0.327 (+0.969)

+0.095 (+1.059)

2-4-1-1.

+0.016 (+0.103)
+18.79 (+1.073)
+0.140 (+1.702)

-0.045 (-0.489)
+0.415 (+2.483)
+0.192 (+0.975)
+0.246 (+1.074)

+0.260 (+0.938)
+0.031 (+0.212)
-0.095 (-0.292)

+0.307 (+3.200)

-0.013 (-0.110)
0430 (-0.043)
+0.279 (+3.052)

~0.196 (+0.842)
-0.009 (-0.095)
-0.040 (-0.305)
+0.009 (+0.111)

-0.004 (-0.089)
-0.102 (-1.191)
+0.114 (+0.793)

+0.164 (+2.425)

+0.402 (+2.393)
-27.94 (-1.141)
+0.088 (+1.000)

-0.359 (-1.145)
-0.077 (-0.759)
+0.210 (+1.269)
+0.176 (+0.928)

+0.017 (+0.258)
+0.227 (+1.405)
-0.304 (-0.872)

+0.153 (+3.011)

+0.329 (+1.556)
+51.54 (+2.138)
+0.263 (+3.559)

-0498 (-1.049)
-0.092 (+0.619)
+0.778 (+1.854)
-0.149 (-0.650)

+0.020 (+0.206)
+1.098 (3.383)
+0.060 (+0.166)

+0.272 (+3.338)
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3-1-1-1. 1 8 1975-2000
1 -
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PRM(z)
RM
CM(z2)
PRM(z)
APM(z)

d PRM(z)/dz
at z opt. m;

PRM(2)
z

RM

pm

gm
CM(2)
cw(z)m
CKm
CRm(z)
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z optm
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d PRS(z)/dz

at z opt. s;

PRS
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RS(z)
ps
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APM(z)
z opts

RM - CM

pm * gm

cw(z)m * gm + CKm + CRm(z) + CTm(z)

RM - cw(z)m * gm - CKm - CRm(z) - CTm(2)
PRM(z)/qm

(RM - CKm - CRm(z) - CTm(z))/gm - cw(z)m
- d CRm(z2)/dz - d CTm(z)/dz - d cw(z)m dz

d PRM(z)/dz

M

=TI

RS(z) - CS(2)

ps * qs(z)

cws(z) * gs(z) + CKs + CRs(z)

ps * gs(z) - ( cw(z)s * gs(z) + CKs + CRs(z) )
PRS(z)/qs(z)

(ps - cw(z)s) + ( CKs + CRs(z) )/qs(z)

(ps - cw(z)s) * d gs(z)/dz - gs(z) * d cw(z)s/dz
- d CRs(z)/dz

d PRS(z)/dz
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